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Instructions for the Candidates

Write your roll number in the space provided on the top of

this page.

This paper consists of fifty multiple-choice type of

questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.
Example :
where (C) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will
not be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

You have to return the test question booklet and Original

OMR Sheet to the invigilators at the end of the examination

compulsorily and must not carry it with you outside the

Examination Hall. You are, however, allowed to carry

duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.
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POPULATION STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

Which variable among the following
is not demographic characteristics of
the population ?

(A) Age structure

(B) Sex structure

(C) Marital status

(D) Literacy level

When does National Sample Survey
(NSS) started collecting data on
births and deaths ?

(A) 1950-51 (B) 1954 -55
(C) 1956-57 (D) 1958 -59

Match from List — I and List — II :

List-1 List-11

(@) World TB (i) 11" July
day

(b) World (i) 24™ March
Health Day

(c) World (iii) 7™ April
AIDS Day

(d) World (iv) 1* December
Population
Day

Code :

@ (b)) () ()

(A) (i) @) @) (>Gv)

B) () @) (@) (1v)

© @G @) @Gv) @)

D) (v) ay @) @)

Which among the following is used

for computing United Nation’s Age-

Sex Accuracy Index ?

(A) Mean deviation of the age
ratios for males from 100.

(B) Mean deviations of the age
ratios for females from 100.

(C) Three times the mean of the
age differences in reported sex
ratios
All the above

Which one of the following
population growth model is not
matched correctly ?

(A) Arithmetic : P, =P (1 +1t)
(B) Exponential : P, =P_e"
_K

1 +e2* bt
(D) Gompertz : P, = BC'

(C) Logistic: P, =

The double time (t) of a given
population growth rate (r) is
log 2

log €?

B) t= "

_loge
© t= 2r

How many years it takes the
population to double with a growth
rate of 1.0 ?

(A) 70 years
(B) 46 years
(C) 140 years
(D) 28 years

What are the data requirements for

calculating Infant Mortality Rate ?

(A) Infant births and deaths of one
year.

(B) Infant births and deaths of two
consecutive years.

(C) Infant birth and deaths of three
consecutive years.
All the above
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STHEET 3T

weas — 11
A : T T H U (50) SE-Toehodial U & | Hedeh 09 % &F (2) 37k & | Wt e e € |
1. TAfafEd & 9 ®F | =) 9@ &5 5. fAfatea sHeen gty gied gafad
SAThehIT &7 F&l & ? THE:
(A) 3R] HTaT (A) TR ;P =P (1 +1t)
(B) ifiTeh GTeT ~ P _p et
©) e fet (B) =REMi g : P =P e
(D) HTERAT &R (©) g@m:PFHI;m
2. TR THAT T (A9 Ul Hel) A S
ST Ue o UR SRSl GUE AT (D) 1P =BC'
TRET ol ?
(A) 1950-51 (B) 1954-55 6. U UEH SN ghg ST (r) 1 & T
(C) 1956-57 (D) 1958-59 T (1) &
3. e - I e - 1R g s (A) t=1%2
-1 =h-11 )
(a) fwaaifes (i) 11 ome B) (=08
fearg f
(b) fovm =R (i) 24 W ©) (=lose
e 20
() fm  wem (i) 7 e D) =l
feag 2r
(d) foea (iv) 1feger
ST 7. 1.0 g T fordlt STEEA i AT 8
feag o fohae o o1 2
FT (A) 7099
TR ™ o
111 11 1 1v
® O () i) () (©) 1407
© (i) Gi) Gv) () (D) 28ad
D) (v) ay @) @
4. = 9 ¥ =9 W T Ao 8. WW{@W%WWW gl -
ARG STTHATET 1 THT HLA | SERAHATL & 2
TR Bl & ? (A) TH a9 | FoT Frgret o s+ X
(A) 100 [ 9 9 g U H 7Y
ey et (B) fR= < =i o ot forggett w0
(B) 100 T&@i & § g oA W S 3 gy
bl ' . (C) TR dF oot § For fRrepstt &
(C) RuiE gu <difieh sl % - S 31T g
m%m@aﬁqw (D) U T

(D) U g
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9.  Which among the following States 14. Who proposed Intermediate
has shown fast decline in growth rate variables frame work in the field of
during 2011 compared to 2001 fertility ?

(A) Andhra Pradesh (A) Davis & Blake
(B) West Bengal (B) Bongaarts

(C) Maharashtra (C) Coale and Hoover
(D) Bihar (D) Glass

10.  As per the 2001 Census of India the 15. Child-Woman ratio is a measure of
Scheduled Castes and Scheduled (A) Population growth
Tribes together constitute. What (B) Migration
percentage to the total population of & .
the country ? (C)  Mortality
(A) 24 percent (D) Fertility
(B) 26 percent
(C) 28 percent 16. Which one of the following
(D) 30 percent assumption is correct in estimating

P the singulate mean age at marriage
) using Hajnal method ?

11 The percentage of ~the  child (A) Fertility has been constant in
population (0 — 6) age group, as per the past
2011 Census of India, lies in which P L
of the following category ? (B) Pattern of mortality is constant
(A) 8-10 B) 10.1-12 n past _
©) 12.1-14 D) 14.1—-16.0 (C) Marriage has remained

' ’ ' constant in past
. . (D) Both fertility and mortality
12. ;?lcc(;)rdlr_ltg t(; 20111 Sens_us of India have remained constant in the
e density of population is
past
(A) 250 -299 persons per sq. km.
(B) 300 — 349 persons per sq. km. 17. Who proposed decade .synthetic
(C) 350 — 399 persons per sq. km. cohort method of computing mean
(D) 400 - 450 persons per sq. km. age at marriage 7
(A) S.N. Agarwala

13. As per the Census of India 2011 the (B)  Hajnal
sex ratio in the Haryana State ranges (C)  C. Chandrasekharan
in which of the following category ? (D) J.R.Rele
(A) 850 -900 females per thousand

males 18. Which one among the following
(B) 901 — 950 females per thousand variable is one of the Proximate
males determinant of fertility ?
(C) 951 — 1000 females per thousand (A)  Caste
males (B) Social status
(D) Above 1000 females per (C) Religion
thousand males (D) Contraception
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10.

11.

12.

13.

2001 <t 37987 2011 ¥, F=foafaa ==

o ¥, o6 5T 3§ SO o 99t W H
I T HERTT Wl § 2

(A) T IR
(B) U¥EHr ST
(C) =L
(D) fwr

2001 H FoT YRAA SFOET H
Fgrad Sl 3T 3Fgfad e,

T T AT (STehT) UTaRTear T & 2
(A) 24 gfaer
(B) 26 ufaerd
(C) 28 e
(D) 30w

IRAF SHIOAT, 2011 & 3FER a1
AT F AT (0 — 6)  3TI-THE
frefefaa 4 9 frg ot 5 e & 2

(A) 8-10 (B) 10.1-12
€ 121-14 (D) 14.1-16.0

IR STRTOFT 2011 & STAR G
T &

(A) 250 — 299 =T wfd T freAmieR
(B) 300 — 349 =AferT Wi a7 fehetHicT
(C) 350 — 399 =afed ufd =T fehetieT
(D) 400 — 450 =R WTd T fehetHieT

YRAF SFTOET 2011 % STER SR
H ittt oA 7 ° | few e |
AT ?

(A) 850 —900 f&r=t ufd &<k g&
(B) 901 — 950 Tt Ui &R I
(C) 951 — 1000 F&rt Uid TR T
(D) 1000 ¥ S et Ui &k qoy

TS & & | HeAR TR % g
F (SeHifeue auaer % o) H
e feRe e 2

(A) Sfog 3R =i
(B) @
(C) =FIel Tdl B
(D) TH

S-Sl ST TohHehT AT T
(A) ST Hhg
(B) Yara

€) IR
(D) ST

fr=fefad & @ o J1 e a5
fafy & MR W weel W&l w wEw
3 & ST o foTT Wt g 2

(A) I B TSI ST @1 E |
(B) TogRY i U TR W@ T
(C) It | foarme Tt w1 e |

(D) It B Us 3 geges T
WE |

fode % 999 W IIF AR Her
TOTTeAl hT ke femee feam e 2

(A) TETA, 3RATA
(B) &I

(C) I I=uIEA
(D) SL.3IR

FAffEd = 9 9 9 |/ 9% IS
1 g s € 2

(A) Sifa

(B) wmiRTe fefa
(C) uH

(D) TRy
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19.

20.

21.

22,

Assertion (A) : Even after achieving
replacement level of fertility,
population continues to grow.

Reason (R) : This happens
basically due to inbuilt
population momentum.

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are correct
and (R) is not the correct
explanation of (A).

(C©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

As per the 2011 Census of India

which State among the following has

highest female literacy rate ?

(A) Delhi (B) Goa

(C) Kerala (D) Mizoram

As per the Census of India 2011 the

sex ratio in Kerala ranges in which

of the category ?

(A) 850 -900 females per thousand

males

(B) 901 — 950 females per thousand
males

(C) 951 - 1000 females per thousand
males

(D) Above 1001 females per
thousand males

Match the following List — I with
List—1I

List-I List-11
(a) Regional model (i) Hajnal
life tables

(b) Singulate mean (ii) Brass
age marriage

(c) Theory of stable (iii) Lotka
population

(d) P/FRatiomethod (iv) Coale
Semeny
(v) Sheps
Code :
@ () () (d)
(A) (v) (@) (@) (i)

®) () (i) () (v)
© () (i) v V)
D v Gv (i) G

23.

24,

25.

A relationship between curate
expectation of life (ex) and

expectation of life at birth (ex®) is

o 1
(A) ex=ex +5
B e+
(B) ex=ex -5
(C) ex=ex-1

D) ex=ex'+1

Assertion (A): Target of Infant
Mortality Rate (IMR) of 30 per
thousand live births could not
be achieved in India by 2010.

Reason (R)
rural areas are taking place in

: Majority of births in

home.
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the
explanation of (A).

(©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

correct

method,
(4 s
calculated using the formula
(A) rqu = 2 ’ nmx

According to Greville’s
probability of death

(B) ,q,=I-wen gm-aim ym 2)

o
1 n 1
+am 472 (e~ og.C)
D) q,=1+px-px+1-px+2..

© 9=
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19. e (A)

20.

21.

22,

: TS % e
T OH W o F ouvEE o
SEE H R daig et @ e |

% (R) : U9T gord: 3T Frad
ST qula?qvlwlﬁﬂ%l

(A) (A) 3 (R) 341 W&l & 3T (A)
HT (R) Tel WL & |

(B) (A) @R (R) 3Fi @& ¥ 3iX (A)
T (R) Tel TIEHT el ¢ |

(C) (A)TE &, W (R) T & |

(D) (A) T §, W] (R) Tel & |

2011 S YRAE SOET % AR,
FAfaiEa o 9, 69 T T S JqeRar
T HeTaeh & ?

(A) Teoett (B) T
(C) FA (D) eI
YR SHIUET 2011 3 STER et

IR ST fohg ot 357 | 37T € 2
(A) 850 —900 f&r=it ufd &<k g&y
(B) 901 — 950 Tt ufd a9IR g
(C) 951 — 1000 F&r=t Ui TR q&u
(D) 1001 ¥ FW &t uid aaIR o0

TEr — 1% et — 11 ¥ GHferd iy

ER-1 =h-11
(a) &g Aee Ste (i) &S
SUIGER

(b) faae = wHEA (i) I
AT 371

(c) Ter S (iii) e
s

(d) dWEE eI (iv) e
T U

(v) ¥

E A
@ ) © @

(A) (v) () (i) (i)

B) @) aGi) () (Gv)

(©) Gi) @ii) (v) (@v)

(D) (v) (@v) (@i (i)

23, L e TERT (ex) IR W W

24,

25.

Sie T (ex©) H TER &Y &

o 1
(A) ex=ex +5

o 1
(B) ex=ex -5

(C) ex=ex'—1

D) ex=ex'+1

Ao (A) : 9IRT H 2010 TF 30
afq g9R Sieed ugfaa % de
T3] Jog U 8T (M TH IN)
o & < U &l fehaT ST el |

% (R) : TTETOT & A fereren o
STHEIHE B € |

(A) (A) 3 (R) 31 W&l & 3T (A)
T (R) Tel TEHT & |

(B) (A) 3R (R) IHT Tel &, W (A)
T (R) TeT T & & |

(C) (A)WE T, W (R) A € |
(D) (A) T &, T (R) el & |

Tfaret ot 3 STTHR o i e
(,q,) N TOET HE T § B AW
T2

(A) q,=2-,m,
(B) g, =1"ePcn gme-an’ m2)
m
© 4= T
1+ m [2 12( logeC)}

D) g,=1+px-px+1-px+2..
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26.

27.

28.

29.

30.

31.

For calculation of  Maternal

Mortality Rate (MMR). The

denominator is

(A) Total number of women in
reproductive age in given time

(B) Total number of pregnancies in
given time.

(C) Total number of live births in
given time

(D) Total population in given time

For computation of Infant Mortality

Rate, the denominator is

(A) Total number of pregnancies in
given time

(B) Total number of live births and
still births in given time.

(C) Total number of live births in
given time.

(D) Total population of areas in
given time.

Which one of the following States is
mostly urbanized ?

(A) Andhra Pradesh

(B) Tamil Nadu

(C) Maharashtra

(D) Orissa

Which one is not the measure of
Internal Migration ?

(A) Natural Growth Rate Method
(B) Residual Method

(C) Survival rate method

(D) Net Migration rate

Which one of the following country
does not allow internal migration to
its capital town ?
(A) India

(C) Malayasia

(B) Indonesia
(D) Thailand

When India started using the concept
of Urban area ?

(A) 1951 (B) 1961

(©) 1971 (D) 1981

32,

33.

34.

Assertion (A): Class 1 cities in
India have grown faster than
small and medium towns.

Reason (R) : Due to change in the
definition of urban areas.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C©) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

According to Everett which among

the following factors are associated

with the decision to migrate and the

process of migration :

(A) Factors associated with the
area of origin

(B) Factors associated with the
area of destination

(C) Intervening obstacles

(D) Technological advances

Match List — I with List — II
List-I List-11
(a) Fertility (i) Caldwell
and density
inversely
related
(b) Social
capillary
theory
(c) Theory of (iii) Dumont
cultural lag
and
diffusion
(d) Wealth
Flow
Theory
Code :
@ b (© (@
(A) (i) @) @ (v)
B) ) i) Gv) @)
© @ av) @) @
D) @G @) Gv) @)

(i1) Saddler

(iv) Besher
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26.

27.

28.

29.

30.

31.

ywm@mﬁmﬁa

(A) Tl wed 99g ¥ U TSR
31g ! ferdi sl ot e

(B) Todl Ue 99T H THUROT A
et fer=t bt et far

(C) ol wem o9 ° Siaw wgfeat
%t ot T

(D) WSd TH H FeT S

T79] gegae ot o S fAT E ¥

(A) VST OHF H YR HA ool
Terat =t et et

(B) WEd 99T H Siaw ugfaal X
Tq vt st et T

(C) Ve 90T ¥ Siraw gl & el
T

(D) ST THI H & Hl Fol SHaE

frefafea & ¥ &9 @ ™9 gEd:
TRIPd ¢ ?

(A) T TR

(B) deHTg

(C) W

(D) 3em

FeAffad 0 ¥ S 91 =16 &
T TEl & 2

(A) VTl Hegfg <X oomedt

(B) AT YTt

(C) 3T SHfadr 5T

(D) el VETdl T

fafafega & @ == @ I AUl

ST | SIS i SFA AR

T 2

(A) 9RA (B) TUSHRMET
(C) weAferar (D) oTEAvS
ARG H TR &5 i STEROT & GI0T
el YT 3T ?

(A) 1951 (B) 1961

(©) 1971 (D) 1981

32.

33.

34.

AfHAT (A) : 9YRT T A [ & TR
= ghg T A AR B TR H
i AT T EE T |

& (R) : TR &5 I g
o | T A& |

(A) (A) 3R (R) 31 Tl & 3 (A)
T (R) Tel TEHTE |

B) (A) 3R (R) 5T @&l €, A

(B) %)(R) 1:(13%) qﬁ‘ﬂg( )

(C) (A) g, W (R) Tod ¢ |

(D) (A) 7o §, W (R) W & |

TeRE & AR fefetEad & & ®F @
FHRE YA % U 3R vard w
T gy ¢ 7

(A) -8 | g §C FRH

(B) 7T &7 | 2 g FRH

(C) Yol ARy

(D) TN 3t

Tt — 1% et — 11 9 gAford Sife
-1 =h-11

(a) USFACAT IR (i) Hlosad
g JcohH
q T
g

(b) HHISTH
EAINED)

fas=
(c) TiEpfih
Usem g
foraror
s
(d) 99T
s

T4

(@ (®) (© (@
(A) (i) aG) @@ (@Gv)
B) ) @) Gv) @
© @ av) G @
D) () @) Gv) @

(i) HESW

(iii) gt

qd@  (iv) SRR
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35.

36.

37.

38.

Most of the population theories have
been emerged in which century ?

(A) Seventeenth
(B) Eighteenth
(C) Nineteenth
(D) Twentieth

Match List — I with List — 11

List-I List-II
(a) Zip’s (i) Push and
Model Pull factors
(b) Lee (i1) Rural/urban
migration
(¢) Todaro (ii1) Investment
decision
(costs and
returns)
(d) Sjaastad’s (iv) Gravity
Model
Code :

(@ () (© (@
A) @) aG) 3> (v)
B) Gv) @ (1) (i)
© G aGv) (@ @G
D) Gv) @) () @

According to the latest sample
registration bulletin the crude birth
rate of India is close to which of the
following figure ?
(A) 18.00

() 220

B) 20.20
(D) 24.0

Agricultural Density refers to
(A) Ratio of workers to the farm

land

(B) Ratio of farmers to the farm
land

(C) Ratio of farmers to workers
All the above
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39.

40.

Match List — I with List — II
List-I List-1II
(Theory) (Propounder)

(a) Transfer of (i)
labour from
subsistence
sector to
capitalist
sector

E. Boserup

(b) Investment (i1) Paul Ehrlich
at the rate
equal to
propensity
to save
(c) Innovation (iii) Harrod and
/Increase in Domar
productivity
in the face
of
population
growth
(d) I=PAT (iv) Lewis
Growth
Model

Code :

@ (b)) (© (@
A @O @G >y @GQv)
B) @) G @O @)
© Gv) i) @@ G
D) @) ai) Gv) @)

Which  among the following
categories is not in the list of the
United Nations Millennium
Development Goals ?

(A) Eradicate extreme poverty and
hunger

(B) Proximate gender equality and
empower women

(C) Ensure
sustainability

(D) Right to education

environmental



35. Sy STEE T fag g 39. g — 1o g — 11 & geferm ik
EB)) 3Teredt wrdt
. (a) Mg e d® (i) ¢ amey
(C) =irwat et .
(D) e 3 9T H
AT
36. g - [ Gt — 11 ¥ GHford i ) T R ) T
H=h-1 =A-11 gt o %
(a) FU@HAEA (1) W ec) T
(b) (i) Ty (c) SR (i) &S TH IR
yaT e %
(c) et (iii) FEwr  FoR e
@mE Exiceuico
i) I EC
(d) TSHIE’d  (iv) Ufadt diee oReeT
FT: Kkl
@ b (© (@ @1 = U (v) aw o=
(A G 3d) (i) (@Gv) (PAT) ared
B) Gv) (@) @G (i) B
©) @i @Gv) @) (i) @ ® (@© (@
D) Gv) aGi) G @ A) () () @i (iv)
L N B) (i) (i) @ (@)
ferg 2T & fepeam € 2 D) () @G Gv) @
(A) 18.00 B) 20.20
©) 220 (D) 24.0 4. = H F FA WA HIEW T
fcifom forehra wteddt st et o &l & 2
38. F T forgenl 3T ST AT € 2 (A) =R e SR 9g@ 1 FHe
(A) F 9 1 ¥ § S (B) TR Wil GHMCAT U Afge
(B) F 9\ & FF & T ENIESETU
(C) TR 1 FHIF I 3T (C)  UNERTeH: = I Fehi! ST
(D) U Tt (D) TereT 1 SR
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41.

42.

43.

Assertion (A): Son preference is
high in India.

Reason (R) : India is primarily an
agrarian country where sons
have their importance in
extending help and support to
their parents in agricultural
activities.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the correct answer of
(A).

(C©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

Assertion (A): The National Rural
Health Mission (NRHM) has
been successful in improving
health condition of the poor
couples living in the villages.

Reason (R) : The Accredited
Social Health Activist (ASHA)
are playing significant role in
providing health care services
to the needy couples.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(©) (A)is true but (R) is false.
(D) (A)is false but (R) is true.

Which of the following is not a
natural contraceptive ?

(A) Celibacy

(B) IUD

(C) Coitus Interrupts
(D) Periodic Abstinence

44.

45.

46.

Which is not part of the
Reproductive Child Health Scheme ?

(A) 3 Ante Natal check-ups

(B) Institutional Delivery

(C) Rashtriya
Yojana

Swasthya Bima

(D) Post-partem services

Arrange the
chronological order :

(i) Maternal and Child Health

following in

Programme (MCH)

(i) Child Survival and Safe
Motherhood Programme
(CSSM)

(ii1)) Reproductive and Child Health
Programme (RCH)

(iv) National Rural Health Mission
(NRHM)

A) ) @ 3§ (@Gv)
B) @Gi) aG) Gv) @
© Gv) @) (@) @G
D) @ a) 3§ (Gv)

Assertion (A) : There is remarkable
increase in Institutional
delivery during the last five
years in India.

Reason (R) : Incentive  scheme
under Janani Suraksha Yojana
(JSY) in NRHM motivated
women for Institutional
Delivery.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C©) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.
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41.

42,

43.

AfHUA (A) : YRT H ATEH B 3T
At o €

& (R) : YR WAHe w9 9
FH TGH I T SR ASH H
Hewel & STk of 3q AT i
H TidfafE § wEEw AR
THAF B € |

(A) (A) 3R (R) 3T Tl & 3R (A)
T (R) Tel TEHT & |

(B) (A) #R (R) Ml Wl €, T (A)
T (R) TeT TEHT & & |

(C) (A) T ¢, W (R) Tod & |

(D) (A)Tod &, =g (R) W&l & |

Afpe (A) : T WO e
T (T7 1) w9 TH) A H @A
gt MY gmthEr @ e
fefaat 1 guRT 3§ 9%t W ¥ |

FF:%‘(R) : OIALAT |
WA gEl (3R SeRdEs
TOMET TR @A A
TR HH H Hewoqul iR e
wWE

(A) (A) 3R (R) ST T&T & 3T (A)
T (R) Tel T & |

(B) (A) 3R (R) 3HI Wl & W (A)
T (R) Tel TEHT el ¢ |

(C) (A) T ¢, W= (R) Tod & |

(D) (A) 7o &, T (R) T&l & |

fraffes & @ w9 @ W
TR T & ?

(A) wEr=d

(B) @M (IUD)

(C) T STeRTeh (Prz2d 'i:d{‘-ld\H)

(D) TR H@IH

44.

45.

46.

T AR STA-TARA WhiH 1 A A
39T &I & 2

(A) 3 qa-y9a Si=

(B) HEIF wHfd

(C) T W SHT AT

(D) Srfel ST Sl FaTg

=7 =l FToTehy | UET

() UgE UE ST SEsy
(T &t )

(i) g wd  gOEd A
HRGET (H TH TH )

(iii) T IS TS 16T WA HH
(A T T

(iv) TR TTHOT @ R (T AR
T TH)

(A) @) @) @) 3Gv)

B) i) (i) @Gv) (@)

(©) (@v) (i) @) i)

D) @) G (@) 3Gv)

e (A) : YR § fuse Ot aut
% SR TN Tell | STQTERT
FEEE |

& (R) ;0T ¥R U UH H
T ST G AR H

Ticaed @i+ o o g
799 % e 3a3iRa T |

(A) (A) 3 (R) a1 T&t & 31T (A)
T (R) Tel TR |

(B) (A) 3R (R) IHI W&l &, W (A)
T (R) TEl T TEl ¢ |

(C) (AT E WA R)TATE |
) (A) T &, R (R) TET T |
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47. All the 191 UN member states have 50. Match List — I with List — II
agreed to try to achieve the United - -
Nations Millennium Development List-1 List-I1
Goals by the year (a) Latin (1) High death
(A) 2000 (B) 2005 American rates at old
(©) 2010 (D) 2015 Model Life age
) ) Table compared to
48. Arrange in Ascending order (Low to
High) Popullation density of the younger
Indian States according to 2011 ages
census (b) Chilean (i) Similar to
(A) Uttar Pradf?sh, Kerala, West Model Life west model
Bengal & Bihar Tabl ¢ Coale and
(B) Bihar, Kerala, Uttar Pradesh & able ot -oae an
West Bengal Demeney
(C) Kerala, Bihar, West Bengal (¢) South (iii) Extremely
and Uttar Pradesh Asian high infant
(D) West Bengal, Uttar Pradesh, model Life mortality
Bihar & Kerala
Table
49. Match List — I with List — II (d) Far Eastern (iv) High
List-I List-11 model Life Mortality
(a) Dual (i) Myers Table under age 15
system of and relatively
sample )
registration high
areas and mortality  at
Surveys older ages
(b) Digit (ii)) Whipple .
Preference (e) General (v) High
(C) Dlglt (111) EL Badry Pattern of mortahty
Dislike Life Table during infant
Index and
(d) Non- (iv) Chandrasekhar childhood
response and Dening
correction Code :
Code : @ b © @ (@
@ ® © @ @) O G Gi) ) W
A) Gv) G @) (i) S, o
D, . B) (v) @) Gv) @) (D)
B) @) @) Gv) (@) e
(©) (v) Gi) i) @) © (v) Gv) (i) @G) (@)
D) @) Gv) () (@) D) G@v) @) (v) () @
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47. TIE U G % 191 WEEIAT A 50. I — [ gE — I1 § gaferd S
T g THeAtTem foshr et i e
el er;g PRI e B (o Loy g1 Teh.I1
et uehe )
(A) 2000 (B) 2005 )
(©) 2010 (D) 2015 @) e ) o o Ehs[
AN 3TUT g |
48. 2011 & SFUAT F MR W A= rireer S o ey
W TSAT o SEEET Ocel i ARl e
Wﬁ!‘ﬁ@?:
(A) TR TV, W, TREE (b) Farerer (i) #reer
- gied  Siied A & UTvEH
(B) fo&R, e, STRURYT, Uf¥ey Set Hree % W
Eakd Hreer S fore] gegee
(D) Uf¥eH ST, TR, f9er, e . -
49. T - [ G — 11 ¥ GHfoTd HifT @ T T Gv) 15 99 ¥ e
'“ﬁ-l eli-11 Hge  Sier Sz I
(a) O AT (1) ATH - A
j: ;:W@%r R
359 5 T
(b) Tefeefmm (i) feu=
() fefsie mwiartt (iii) wer aredt (e) St afersdr (v) Ry @R
SRS N GEE qMTHA  H
(Fefre Fewees g IR Eic)
EEEL)) IR
(d) TR-ITR (iv) TEE wE FT:
ERIGE] fm
- @ b @© @ (e
@ ® © @ (A) () Gi) @i @Gv) (V)
(A) Gv) @Gy () (i) B) (v) (i) @Gv) @) (i)
g ((_”)) ((ffl)) ?Yi Eli © ) (v Gi) G) ()
1V 11 111 1
(D) i) Gv) (i) ) (D) Gv) @) (v) () @
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